2019

2N
X ZH -
L= B

SEE

N & 0l & At

)
213)

g & M A

SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
FoU=X4 1,441,919 1,444,873 22,954
HeRags(=usx4a) 1,385,419 1,388,373 A2,954
BAEIE(MI=XIIZ) 1,385,419 1,388,373 A2,954
AMEIERDIS2Y 1,385,419 1,388,373 A2,954
602 O Xl = 1,385,419 1,388,373 A2,954
01 0IXI 3 1,385,419 1,388,373 A2,954

OAM2=XIIZ WXz

2 & 1,385,419,000& = 14 1,385,419 1,388,373 A2,954




N = 0l & At & Ml A

M EXZH D

M WRES(EUHS M)

tel: BEE(3a0Ig848013) (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
S X3 A 6,018,282 5,998,935 19,347
Hees(SNHZ M) 5,448,282 5,428,935 19,347
BEINE(EAIHEHII3) 5,448,282 5,428,935 19,347
SMIYELHIS 28 5,448,282 5,428,935 19,347
602 Ol Xl = 5,448,282 5,428,935 19,347
01 0Ixl= 5,448,282 5,428,935 19,347
Oos2Jlgsdll=s U=

2 & 5,448,282,000& * 14 5,448,282 5,428,935 19,347




Al A

——
N = 0 & A & &
2098 = =4 2 & J12 &AM
25 EEH=ED
H: MHPES(ELHS)
el RENE(NRNEIID) (e aa)
SH-HH B (BH) - HEA - HAS Ol & 08 Il A o Hl D=2t
EE2H=s 631,714 531,714 100,000
HEess(E2MsH 624,914 524,914 100,000
BEIE(HESEEIZ) 624,914 524,914 100,000
HEdEsI|2 624,914 524,914 100,000
602 Ol X| 2 624,914 524,914 100,000
01 ol xl 2 624,914 524,914 100,000
Oulxl2 28 624,914,000 = 14! 624,914 524,914 100,000




= A
N = 0 &8 AFH Y & A AN
20199 =& 2 5 JI2 ®A
SHEIED
M. 85K &
©el HHS Y HEFBN(SHBSIIZ) (el @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
oAM= 1,568,950 1,518,950 50,000
[=4 6,100 6,100 0
2 1,562,850 1,512,850 50,000
He=x =« 105,450 105, 450 0
HdESE 2 HEEHIY(¥EESI2) 105,450 105,450 0
SNBSS 2 O8FMI 105,450 105, 450 0
301 Yt A 56,100 53,700 2,400
09 BHAIAHI B A2 56,100 53,700 2,400
Odsss Z2)H 249
AN 72,7772 * 1500 * 45 * 129 52,400 50,000 2,400
307 21240l & 47,600 50,000 A2,400
02 DIZTAAAIYER 24,000 30,000 A6,000
Ods=Eig & sISAAME XA
A 4,800,0008 * 504 24,000 30,000 26,000
04 DIZFSALALSY B X 8,600 5,000 3,600
OWAdHMANECA FAS
A 8,600,0002 * {14l 8,600 5,000 3,600
AIZ . QA By 136,100 86,100 50,000
= 6,100 6,100 0
2 130,000 80,000 50,000
AZXEIZ 2 (AETEIZ) 136, 100 86,100 50,000
[ 6,100 6,100 0
2 130,000 80,000 50,000
AZRE)Z2 22 136,100 86, 100 50,000
[ 6,100 6,100 0
2 130,000 80,000 50,000
402 QIZIXH=0| & 100,000 50,000 50,000
01 D2 EALEE(KHAHH) 100,000 50,000 50,000
O/~ AME HAAME XA
A 5,000,0008 * 2004 & 100,000 50,000 50,000




= A
H = 0 A&F AF S & Al
20199 =& 2 5 JI2 ®A
2AN: s
H: YRES(SIsY)
o©e: BEXNE(sgLEIB)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH IR
A=A 5,652,399 5,703,956
Hess(Hedsdt) 5,302,399 5,353,956
SIS (sHLEIZ) 3,302,397 3,353,956
SouR)IZ 28 3,302,397 3,353,956
602 Ol Xl 2 3,302,397 3,353,956
01 GIlXI 2 3,302,397 3,353,956
OsgdedII2 WX=2
AA 3,302,397,0009 * 3,302,397 3,353,956
BEIS(SAMSIHHI2) 2,000,002 2,000,000
SASIIHENHDZ 28 2,000,002 2,000,000
602 Ol Xl 2 2,000,002 2,000,000
01 GIlXI 2 2,000,002 2,000,000
Osd2IHAHHIZ2 X2
AA 2,000,002,0008 * 1 2,000,002 2,000,000




>
N = 0l & At & Ml A
20198 & =38 2 8 JI=2 &A
SN QEALD
e W Y Y =S s
Shel: W EEIIIE S8 (HHE2I3) CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
orM 24 &t 5,921,806 2,921,806 3,000,000
< 200,000 200,000 0
= 5,721,806 2,721,806 3,000,000
M- THo ol & =2sd 23 3,890,000 890,000 3,000,000
S 200,000 200,000 0
[ia 3,690,000 690,000 3,000,000
Hetzeldis 28 (Mdt2ellls) 3,890,000 890,000 3,000,000
£ 200,000 200,000 0
[ia 3,690,000 690,000 3,000,000
Hahog & 823=572013) 3,890,000 890,000 3,000,000
= 200,000 200,000 0
s 3,690,000 690,000 3,000,000
201 L Et2A | 100,000 0 100,000
01 At 2teltl 100,000 0 100,000
OM:HEl =& &l 50,000,000 * 14! 50,000 0 50,000
oMo =25 2| 50,000,000 = 14l 50,000 0 50,000
401 AIEHI L 2CHYI 3,790,000 890,000 2,900,000
= 200,000 200,000 0
a 3,590,000 690,000 2,900,000
01 A€ HI 3,790,000 890,000 2,900,000
OMalol o S3=2 Ay
2 & 3,700,000,000& = 14 3,700,000 800,000 2,900,000
== 200,000 200,000 0
s 3,500,000 600,000 2,900,000




Of & AF & & A

A

2N SEAIA
Ho: RS (SEAYL)
tel: BEdIE(HEct=S LAY S g3) (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=T ALY A 31,600,502 31,478,648 121,854
Hees(=ZAga) 31,250,502 31,128,648 121,854
SBENE(HSot-ESLHeAEELAY 2) 31,250,502 31,128,648 121,854
HESt+3ZHM2UE RNEgz 28 31,250,502 31,128,648 121,854
602 Ol Xl = 31,250,502 31,128,648 121,854
01 0Ixl= 31,250,502 31,128,648 121,854
OUXl= 2 & 31,250,502,000& = 14 31,250,502 31,128,648 121,854




